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Sl. No.1
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Identify the correct preposition to make a meaningful sentence.

The scheme of Pradhan Mantri Jan Dhan Yojna was originated the Prime Minister.
(1) in

(2) with

(3) for

(4) by

Foffea & @F o dge asT el 2
1) &

(2) o

3) A

4 3

1[Option ID=45001]

2[Option ID=45002]

3[Option ID=45003]
4[Option ID=45004]

Sl. No.2
QBID:1555072

Identify the meaning of the underlined idiom from the options given.

Rajesh's brother gave him a bird's eve view of the courses offered in the Hansraj College .

(1) an objective view

(2) a detailed presentation

(3) an elaborate description

(4) a general view
Frafefad & 3 o1F-91 2es BRI 4 D161 © 2
(1) G, HBHN

() 1%, Uerd

(3) YRAL PRYMET

(4) P, SH

1[Option ID=45045]
2[Option ID=45046]
3[Option ID=45047]
4[Option ID=45048]

Sl. No.3
QBID:1555073

Choose the correct option to make a meaningful sentence.

For the last seven months I in this company.
(1) am working

(2) has been working

(3) have been working

(4) have worked

T & oy T el axg & e 819 FT WG UFe Bl & S8 $IH-I1 RS ed @ 2

(1) PATPRD
(2) THPRD
(3) HMUGH hd
(4) THEHIRS




1[Option ID=45073]
2[Option ID=45074]
3[Option ID=45075]
4[Option ID=45076]

Sl. No.4
QBID:1555074

Identify synonym for the underlined word in the sentence.

Rabindranath Tagore had penchant for reading books.

(1) liking

(2) strength
(3) inclination
(4) desire

:ﬂaﬁmmﬂa%:@Hﬁﬁﬁaﬂ(AssertionA)%Wﬁ%@ﬂ%ﬁmmm{ReasonR)a?Wﬁ:
iy A - T fagmo sfdefi IS § |
FHRUIR : G § WO $3 $ 15 ThaigLiyo & &0 96d ol ¢ |

QWRIET HYH & AP |, -id G0 T [dswed] § I el 3ok &1 9-1g Sifor -
(1) ARREAIIE IRR AT G AR

(2) ARREH IAE, AfFAR, AT TSl AT T8 §

(3) ATTE, AfpTR HTAR

(4) ANIE. APIRITAS

1[Option ID=45077]

2[Option ID=45078]

3[Option ID=45079]
4[Option ID=45080]

Sl. No.5
QBID:1555075

Find correctly spelt word form the options given below (only one word is spelt correctly)
(1) Abatoir

(2) Apiary

(3) Aviay

(4) Archves

Yail-1 & A1y YAI-11 BT A Hifor -

AT T I
@T=) (Gitilial))
A |SRUg L |l
B. |I@d L (&
c. |faeg Il |3gey
D. |7 . |a&

i feu U fasedi § U T8l SR &1 99 Bifolt -
(1) A-IV, B-III. C-I. D-II

(2) A-IIL B-III. C-IV, D-I

(3) A-L B-II C-IIL. D-IV

(4) A-IL B-IV. C-III. D-I

1[Option ID=45081]

2[Option ID=45082]

3[Option ID=45083]
4[Option ID=45084]

Sl. No.6
QBID:1555076

Identify the correct active voice for the sentence given below :

When were my shirts returned by Ajay ?




(1) When Ajay returned my shirts ?

(2) When will Ajay returned my shirts ?
(3) When is Ajay return my shirts ?

(4) When did Ajay return my shirts 7

:ﬂaamﬁq@%:@S*Iﬁlaﬂﬁ(Assertion.%)%@ﬂﬁ‘@ﬂ%ﬁlWWW{ReasonR)aﬂ_Wﬁ:

DY A « TR AT &1 arand § fbdt gad afed &1 yRT ¥ Wiges (SR a1l

BRUIR : 59 JoTax &1 G g3 |

IR HYA & @D 1, Aid U 0 e & I gl 3R &1 9.1 Dol —
(1) AMRREH TAE AIRR AP Tt ERET B

(2) A SRR IH TA T, Al R, A PI Ul Urem 78T &

(3) AFT S, AR 3T

(4) AT AFTRITT

1[Option ID=45085]

2[Option ID=45086]

3[Option ID=45087]
4[Option ID=45088]

Sl. No.7
QBID:1555077

Identify the correct direct speech for the sentence given below :

Farhann told Ashok that Taj Mahal is the Seventh Wonder of the World.

(1) Farhaan suggested to Ashok. "Taj Mahal is the Seventh Wonder of the World".
(2) Farhaan said to Ashok, "Taj Mahal is the Seventh Wonder of the World".

(3) Farhaan tells to Ashok, "Taj Mahal is the Seventh Wonder of the World".

(4) Farhaan says to Ashok. "Taj Mahal is the Seventh Wonder of the World".

Pefia § I P g e e 0
1) HPRI-YT

() SHRI - U5

(3) 3PRId-HY

(4) BPRI - HIJ

1[Option ID=45089]

2[Option ID=45090]

3[Option ID=45091]
4[Option ID=45092]

Sl. No.8
QBID:1555078

Choose the correct order of the paragraph to create a meaning out of PQRS set :
To explain

P : that there are no opposites.

Q : forms required looking at the second

R : approach to opposites in the theory of forms

S : how Plato can deny the existence of some
(1) QPSR
(2) PQSR
(3) RSQP
(4) SQRP




FEl-1 & 1Y FEI-11 T e B -

T 1 et 11
A |Ter € U g3 guid 1 [09®
B. | IR @ ST Ud 1L |ugg
C. [Siug-d ara gl III. |oReal
D. |l T $l B & dacl FTgHI g | IV, [arfesfas
i fau T fawedi # 9 ol 9Tk &7 99+ Dol -

(1) A-IV. B-II. C-II. D-I
(2) A-IIL B-IV. C-I. D-IT
(3) A-IL B-I. C-IV. D-III
(4) A-L B-III. C-II. D-IV
1[Option ID=45093]
2[Option ID=45094]

3[Option ID=45095]
4[Option ID=45096]

Sl. No.9
QBID:1555079

Choose the correct sentence.
(1) She ate her breakfast. had a shower. and goes to school.

(2) She ate her breakfast, had a shower. and gone to school.

(3) She ate her breakfast. had a shower. and went to school.

(4) She ate her breakfast, had a shower, and was going for school.
fafeiad § ¥ Yoy arey fied S -

(1) JERS: IS |

(2) JETHT: S HAH TR |

(3) 431 B: S A T ¢ |

@) FWHT: AMAFTCE |

1[Option ID=45097]

2[Option ID=45098]

3[Option ID=45099]
4[Option ID=45100]

Sl. No.10
QBID:15550710

Find out which part of the following sentence has an error.
(1) Harsha told to the housekeeper

(2) that he should not
(3) Come for work
(4) from tomorrow

fFafafed ¥ ge wsa & -

A MY
B. 3mffarg
C. I=ad
D. 9HPR
E. HaAl
i fGu U f[de el § O gl 3R &1 994 SIfol
(1) ¢.D3RE
(2) B.C 3RE
(3) C.D.E3RA
(4) A.B3RC

1[Option ID=45005]




2[Option ID=45006]
3[Option ID=45007]
4[Option ID=45008]

Sl. No.11
QBID:15550711

Who built the famous Shiva Temple at Ellora ?

(1) Chalukya King Pulikeshi II

(2) Gupta King Samudragupta

(3) Mauryan Emperor Ashoka

(4) Rashtrakuta Ruler Krishna [

g0 ¥ fopge vaRT & frg-Hfex &1 fHator examr 2
(1) I YRS A I

(2) TS S

(3) O TgTe =F
(4) MTHC RAD P[]

1[Option ID=45009]
2[Option ID=45010]
3[Option ID=45011]
4[Option ID=45012]

Sl. No.12
QBID:15550712

The origin of Indian music can be traced to which of the following Vedic Samhitas ?

(1) Atharvaveda
(2) Yajurveda
(3) Samaveda
(4) Rigveda

YR Tfid &1 3w FHgifed i afew dRardgang -
(1) Suddg

(2) T9dg

(3) Hdq

(4) Fdg

1[Option ID=45013]
2[Option ID=45014]
3[Option ID=45015]
4[Option ID=45016]

SlI. No.13
QBID:15550713

Buddhism made an important impact by allowing which of the following hitherto marginalized sections of society into its fold ?

A. Women
B. Warriors
C. Merchants
D. Shudras

Choose the correct answer from the options given below :
(1) Aonly

(2) AandD only

(3) Aand C only

(4) Donly




Sieyd 7 999 F BIRN WR uS Faifed fa o o1 srom o & wnfie a1 99 W 1 geagyf gye ST

A Tfgarat
B. UIGl
C. TR T
D.¥x

A feT v fashedl & @ HEW IUGFd IR BN A dilelT -

(1) HIdA
(2) HIAA ARD
(3) FaTAIRC
(4) HIAD

1[Option ID=45017]
2[Option ID=45018]
3[Option ID=45019]
4[Option ID=45020]

Sl. No.14
QBID:15550714

President of India 1s empowered to make which of the following appointments ?

A Chief of the Army

B. Speaker of the Lok Sabha
C. Chief Justice of India

D. Chief of the Air Force

Choose the correct answer from the options given below :
(1) A.BandD only

(2) AandD only

(3) Aand C only

(4) A.CandD only

fFafafed 8 ¥ foa 1 Fgfdagl @ e YRd & Iyufd &1 Iredar a § 2

A SIS
B. AU Hemef

C. YRd & T30 i

D. a1g I WHE

il fou U fasedl d § T8l 3R &1 9494 BIlolU -
(1) HIAA.B 3R D

(2) Faa A ARD

(3) FadAARC

(4) PAAA. C 3R D

1[Option ID=45021]
2[Option ID=45022]
3[Option ID=45023]
4[Option ID=45024]

Sl. No.15
QBID:15550715

Which of the following statements are correct about Swachh Bharat Mission - Urban ?

A Tt has an outlay of 1.41 Lakh crore and will be implemented over 5 years.
B. The nodal Ministry is Ministry of Housing and Urban Affairs.
C. SBM-U phase 2 was launched by Hardeep Singh Puri.

D. SBM was launched on 2%¢ October 2014.

Choose the correct answer from the options given below :




(1) A.BandD only
(2) Aand B only

(3) Aand D only

(4) A.B.CandD only

T HRA-RA Ted R d Ffafa s s ad € 2
A.SHHT Y 1.41 TR DS € R Y 5 a9 § fehanfaa far s |

B. SU@] A8d HATTY, " A 3R Yed] &1 Ud 7R 5a1aa” § |
C.TH.d.0H.- g B 2 BEIY e O3 gR1 aRy fear mar o |
D. TH.ELUH. 2 3{aZa% 2014 BIURH 3N AT |

= B 717 Eeat F § Wel 3094 &1 949 &Hiag ;
(1) FAAA, B IR D

(2) HadAIRB

(3) Had A dRD

(4) FAAA,B.CIARD

1[Option ID=45025]
2[Option ID=45026]
3[Option ID=45027]
4[Option ID=45028]

Sl. No.16
QBID:15550716

In a certain code language.

"book pen mouse computer” is coded as "er gh 1u cv”
"keypad pen book bottle" is coded as "gn ty iu kl"
"ecomputer pen bottle paper” 1s coded as "cv kl 10 gh"

Which of the following code is used for "pen"
(1) gh
(2)
(3) ¢V
(4) 10

U faRiy e N o
"book pen mouse computer” BT HT B -"er ghiucv".
"keypad pen book bottle" DI T -~ "en ty 1 k"

"computer pen bottle paper” TP % -"evklio gh".

"pen"%ﬁﬂ{ﬁﬁ%@ﬂﬁ@fﬁﬁ@ qﬁﬁi‘}

(1) gh
(2) i
(3) ¢V
(4) 1o
1[Option ID=45029]
2[Option ID=45030]

3[Option ID=45031]
4[Option ID=45032]

Sl. No.17
QBID:15550717




In a certain code language,

'Attend class daily good' is written as 935, 24%9, 3$6, 24*3

'Begin great any matter' is written as 3 & 3. 839, 10*15, 1434

'Less error and fire' 1s written as 1087, 23%8. 9%14, 24&3

'"Tool better than screw’ is written as 16%22, 5%$21. 10%4, 14%22
According to the given code what will be the code for the word Burst' ?
(1) 8%4

(2) 6%2
(3) 8%2

'Attend class daily good' D1 955, 24%9, 356. 24+3 @I ST §
'Begin great any matter' P13 & 3. 880, 10*15. 1434 @I ST &
Less error and fire' DI 10$7. 23%8, 9%14. 24&3 fa@T ST §

'Tool better than screw’ ®I 16%22, 5321, 10%4, 14%22 feRET S@1 8 |

FR 2T 0 $l & ER TS Burst BT He T8 2
(1) 8%4

(2) 6%2

3) 832

(4) 644

1[Option ID=45033]

2[Option ID=45034]

3[Option ID=45035]
4[Option ID=45036]

SlI. No.18
QBID:15550718

If the symbol '+ means '—' and "*' means /" and vice versa then, what would be the value of following equation ?

A%*2/4-2+3
) 7
(2) 3
3) -8
(4) 10

gfe debd '+ &1 3 — g SR+ @1 3 v B 3R guep fawia ot o & o FHafaiad SR &1 0 1 8 2

4*2/4-2+3
(1) 7

(2) 3

(3) &

(4) 10

1[Option ID=45037]
2[Option ID=45038]

3[Option ID=45039]
4[Option ID=45040]

Sl. No.19
QBID:15550719

If V plays first. which one of the following must be true ?

A. T perform sixth.

B. X perform third.

C. Z perform seventh.

D. T perform immediately after Y.
E. W perform immediately after X.




(1) C and E are correct.
(2) Dand E

(3) A and B are correct
(4) C and D are correct

afE v el Ued Ui &l ¢ dl Fafiad # 9§ B9 faded 99 g 2
A T64 %Y R U 3T g |

B. X Y 0 TR U &ar g |

C.Z 9Idd HH WA gar e |

D.Y® Qa0 818 T WG/ gl © |

E. X & Q¥ 918 W Ufd 3T § |

i fGu U f[de el § O gl 3R &1 994 SIfol
1) cIRETEE

(2 DARE

(3) ASRBIEE

(4) cARDTEE

1[Option ID=45041]
2[Option ID=45042]
3[Option ID=45043]
4[Option ID=45044]

Sl. No.20
QBID:15550720

After walking for 6 km. Aradhana turns to the right and then walks 2 km. After that she turns to the left and walks 10 km. In the end.
Aradhana 1s moving towards the North. From which direction did Aradhana start her journey ?

(1) North

(2) South

(3) East

(4) West

6 foprll =re & a1, SRIYT alfe gof 3R 2 fil =l | 39S 91e a8 a1 g3t iR 10 fbell =reil | 3 § SR1eAT SR feun 8 =d
Gl g | SARTYAT A 3O ar e &= 9 = 3t ot 2

(1) W
(2) afgmr
(3) 9
(4) gigg

1[Option ID=45049]
2[Option ID=45050]
3[Option ID=45051]
4[Option ID=45052]

Sl. No.21
QBID:15550721

In how many ways. a committee of 6 members be selected from 7 men and 5 women. consisting of 4 men and 2 women ?

(1) 200

(2) 250

(3) 350

(4) 450

7 &N ud 5 Afganel 4 ¥ ¢ Iewdiia 9ftf &1 904 oo veR 3 &1 o 9@ ¢, 59y 4 gou ud 2 afgent snfia g
(1) 200

(2) 250

(3) 350

(4) 450

1[Option ID=45053]
2[Option ID=45054]




3[Option ID=45055]
4[Option ID=45056]

Sl. No.22
QBID:15550722

A cone and a sphere have equal radii and equal volumes. Find the ratio of the diameter of the sphere to the height of the cone?
(1) 1:4

(2) 1:2

(3) 41

4) 21

U X 3R TP TNicl & a1 Ud S S8 © | T 711d & o &1 UP DI GdTs I 91 fba-1 ohTl 2

(1) 1:4

(2) 1:2

(3) 4:1

4) 2:1

1[Option ID=45057]
2[Option ID=45058]
3[Option ID=45059]
4[Option ID=45060]

Sl. No.23
QBID:15550723

A sum of money doubles itself at compound interest in 15 years. In how many years will it, become eight times ?
(1) 15 years
(2) 30 years
(3) 40 years

(4) 45 years

IS RIS Thqls o01e I a2 Y 15 a8 H S 81 9ic & | fdoa aul & g 3118 A1 81 S 2
1) 1598

2 3099

(3) 4074

() 4534

1[Option ID=45061]
2[Option ID=45062]
3[Option ID=45063]
4[Option ID=45064]

Sl. No.24
QBID:15550724

What 1s the probability of getting a sum 9 from two throws of a dice ?

o=t

1)

—
[

(2)

(3)

= D= |

(4)
fes <t U P S IR b F T 0 U B Bt WIS T fbat 8 2

1)

i
r4|"‘

(2)

(3)

(4)

O MO = | e

1[Option ID=45065]
2[Option ID=45066]
3[Option ID=45067]
4[Option ID=45068]

Sl. No.25




QBID:15550725

If the equation 2x* +3x+ p =0 has equal roots. then the value of p 1s
(1) 7/8

(2 1/8

(3) 89

(4) 9/8

T JHIDRU 2.2 + 32+ p =0 BT U T o, 0l p BT A b1 8T 2
(1) 7/8

(2 1/8

(3) 89

(4) 9/8

1[Option ID=45069]

2[Option ID=45070]

3[Option ID=45071]
4[Option ID=45072]

Sl. No.26
QBID:251504831

When the classes of variable are distinct. unidimensional. mutually exclusive and without hierarchy. the variable is
(1) Nominal

(2) Ordinal

(3) Interval

(4) Ratio

oid =R P a1l ol [afRTy, Uep-SimarH, UReUR® =Y I 30 g (971 Ugrshd & i, dl =R §-
) 7|

(2) PHYIR

(3) 3farad

(4) HJUId

1[Option ID=47801]
2[Option ID=47802]
3[Option ID=47803]
4[Option ID=47804]

Sl. No.27
QBID:251504832

Match List T with List IT

LISTI

(Methods of Child (Desucf;r tliIon)
Study) P
i Studving the same group of participants over

A it vt [ la pa.tT1cu§aI time period thus allowing the
observation of development

Collecting detailed information on one
individual's development to draw an
extensive picture of the developmental
process of an individual

B. |Case study method |[IL

C Cross sectional I Observing behaviour in a usual environment,
* |method “|such as i a home, dav-care or school setting.
D Longitudinal v Studving groups of participants in different

method age groups at the same point in time

Choose the correct answer from the options given below :
(1) A-L B-IIL C-II, D-IV
(2) A-III B-L. C-IV, D-II
(3) A-III B-II. C-IV, D-I
(4) A-IL B-IV. C-I. D-III




el 1% 1Y e 11 DT A Doy

a1 . Hal-IT
@Ta oA 3t fafiah (ferawmn)
e (3RS THY & &G WiHIRE! B
|, [ sadeA fafy | O W T 3 L 3
(RIS 3ifeedvq HYS), gﬂ 3BT & Sgaic & S
|
U Sl o [dTd o1 Highdl B
B [y w3 fafd 11 [ATU% aUiF O & 7T I8 faar
& R H Ta%3d Yo U d BT
I araRy, o - 93, G 4
c uﬁﬁr@-&u%ﬁﬁ@ﬂu [0 [ca™Te a1 faged o uika= H
IaER B 3{dciid H |
cRiddg fafe @fefea |, [0 & 9Ha U i smg-gqg! | vl
P s, i HIRTA & THE BT HETH DAl

= fu U f[deedl O ¥ 98l fdded &1 994 ST
(1) A-L B-IIL C-IL, D-IV

(2) A-IL B-I, C-IV, D-TI

(3) A-IIL B-IL, C-IV, D-I

(4) A-IL B-IV, C-I, D-III

1[Option ID=47845]

2[Option ID=47846]

3[Option ID=47847]
4[Option ID=47848]

Sl. No.28
QBID:251504833

Given below are two statements :
Statement I : Mean, median, mode are measures of central tendency.
Statement IT : Mode determines middle value of dataset when listed in ascending order.

In the light of the above statements. choose the most appropriate answer from the options given below :

(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement IT are incorrect
(3) Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement II is correct

EIECICAIEICURI I
HYA 1 : TTe0, IeHaT, 9gad b= Ughd & A1 §
B 11 : 9509 39 Sl Yg=Id & T UM &1 Hufid #3a1 8. 96 39 oRigl o1 § gl a1 ofrar g

SURIE Y- & 3Hralieh o, - fau U faseul © 8 Fed Iuged 9k &1 99+ SHifug -
(1) BYTI 3R IS TeT 8

(2) FYF1 AR I Tad &

(3) HYT1 el 8. AT YT 1 TEd ©

(4) HYF 17T 5, Ui DY I Tel o

1[Option ID=47889]
2[Option ID=47890]
3[Option ID=47891]
4[Option ID=47892]

Sl. No.29
QBID:251504834




Given below are two statements :
Statement I : Hypothesis is an assumption about a population which is always true.
Statement II : Null hypothesis suggests that no significant relationship exist in a set of given observations.

In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement IT is correct

e sy fRumu g
BYUA 1 : IR T il S & §R H U Ja-4RUM . il 9ad 9 gid g
B 11 - Y TIRB e GATad Bl & b f&U MY sradiel & 9g=g o I3 Hewyul day 3R g fagmH 7l 8

SURIGK Y1 & el H, - AU 7Y fasbeul § 998 Sugad Gk &1 99 HifolU -
(1) HYF1 AR 1A T

(2) BYA1 3R 11 S Tad §

(3) HYF1 G 5. i HUF 11 7T0d &

(4) FYF17Tad 8, A FU 1 LT &

1[Option ID=47933]
2[Option ID=47934]
3[Option ID=47935]
4[Option ID=47936]

Sl. No.30
QBID:251504835

Who said "Extension program is a statement of situation. objectives, problems and solutions?
(1) Myerson and Bonefield

(2) Leagan

(3) Kelsey and Hearne

(4) Lawrence

o weT U - fowR srdws fUfS, Sewal, guwral 3R IHIYMF] &1 U6 dedd g1
(1) ORE R g

(2) TR

(3) B! IR T

(4) FR=g

1[Option ID=47977]
2[Option ID=47978]
3[Option ID=47979]
4[Option ID=47980]

Sl. No.31
QBID:251504836

When the standards created by members of a society. are not contained i a legal document but compliance with these social norms is
mandatory for all members of the group. These standards are

(1) Qualitative

(2) Conventional

(3) Quantitative

(4) Flexible

o U 9T & 95l R FiHd e ts fafte awamaw & =81 U od §. it 71 o adi &1 siueH 949g & it
Hewl & [ e 81 4 AP B 8 -

(1) TUIddiqs

(2) YXHERMT

(3) HHATHF

4) T




1[Option ID=48021]
2[Option ID=48022]
3[Option ID=48023]
4[Option ID=48024]

Sl. No.32
QBID:251504837

A demonstration to show the worth of an improved successful practice is known as :

(1) Method demonstration
(2) Result demonstration
(3) Field demonstration
(4) Frontline demonstration

TS YHAd 9ha o1 fafdl & Hew o1 32 ardt waxi= &1 i =9 & &1 o1l 82
) faf v

() gf¥oryg yexiH

(3) Wi ue=H

(4) 33y o &1 werH

1[Option ID=48065]
2[Option ID=48066]
3[Option ID=48067]
4[Option ID=48068]

Sl. No.33
QBID:251504838

The Indian Constitution formally set up Panchayati Raj system as the third level of India's federal democracy in the year :
(1) 1954
(2) 1976
(3) 1992
(4) 2004

YR Hfau™ = 9 ad § elig=ie & 3 52 & Huly diddd & gaid ®R & =9 Uil T JuiTel! B a1 B At

(1) 1954
(2) 1976
(3) 1992
(4) 2004

1[Option ID=48093]
2[Option ID=48094]
3[Option ID=48095]
4[Option ID=48096]

Sl. No.34
QBID:251504839

A PPP model in educational system is :
(1) Private Public Prototype

(2) Public Peoples Participation

(3) Public Private Proprietorship

(4) Public Private Partnership

e ol & ue o i ofsa B

(1) ol - IRPRI W= (TG H=0)
(2) BRI - 5 YAfeR

(3) PRI - ol Wi

(4) IPRI - ol et

1[Option ID=48097]
2[Option ID=48098]
3[Option ID=48099]
4[Option ID=48100]

Sl. No.35
QBID:2515048310

Non-formal education is
(1) Theory based




(2) Teacher oriented
(3) Learner oriented
(4) Curriculum oriented

SETTER e ®
(1) figid - enmefed
2) et

@) el - =g

(4) UTGT=g !

1[Option ID=47805]
2[Option ID=47806]
3[Option ID=47807]
4[Option ID=47808]

Sl. No.36
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A planned effort in communication to modify the attitude, beliefs or behaviour of people is called -
(1) Persuasion

(2) Perception

(3) Acculturation

(4) Enculturation

@R @t AT, fayrl a1 rdeR &1 3ey= A & e Ium § ve Faifd v &1 o1 g1 Sdl § 2
() 31

(2) HCHETT

(3) P U (UpeeRTA)

(4) HIHId UGV (TIDH D)

1[Option ID=47809]
2[Option ID=47810]
3[Option ID=47811]
4[Option ID=47812]

Sl. No.37
QBID:2515048312
.

Which of the following is an individual contact method in extension’

(1) Television

(2) Radio

(3) Campaign

(4) Farm visit

fowamur § fgferaa 1 @ -9 ve safdama 9o fafd &2
(1) Coftfae

@ fgar

@) ffiEE

(49 Gd BT YA

1[Option ID=47813]
2[Option ID=47814]
3[Option ID=47815]
4[Option ID=47816]

Sl. No.38
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Method Demonstration is appropriate for showing-
(1) Comparative results

(2) Process of carrying out an activity

(3) Discussing yield related concerns of farmers

(4) Solving credit related concerns of women entrepreneurs
fafd weer fae! gxiiA & fou Suged
(1) JaTETsd uRomg




(2) g Tiafafe &= uida

3) g &1 3u9 e WReR W =] BT
(4) Hiew IUiEl o OrE S WRISR] BT THIEE HAT

1[Option ID=47817]
2[Option ID=47818]
3[Option ID=47819]
4[Option ID=47820]

Sl. No.39
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The main objective of SGSY scheme was to-

(1) Promote wage employment

(2) Promoting panchayats to undertake rural infrastructure development

(3) Enhance capacity of poor people for self employment

(4) Promote sanitation in rural arcas

UH Sl 0 aTs. g1 & & 3a-d Ul -

(1) AAEI-3TETRT ISR B Hiediied B

(2) YA T YTHI SgERaH] [dBTH &1 disl 36 & U Uicdifgd &1
(3) WIR & foru (e Tl @1 e &1 dadA =

(4) YT SEH| § Wodl B Hicdled Bl

1[Option ID=47821]
2[Option ID=47822]
3[Option ID=47823]
4[Option ID=47824]

Sl. No.40
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Which of the following 1s NOT a dimension of message designing in communication?
(1) Totality

(2) Code

(3) Content

(4) Treatment

frafafad ¥ ¥ S 9Eive § 929 & Sifided &1 TP A T8l 67

(1) JHAAI

(2) ®<

3) fawgayg

4 fad=H (dlei)

1[Option ID=47825]
2[Option ID=47826]
3[Option ID=47827]
4[Option ID=47828]

Sl. No.41
QBID:2515048316

Give below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A : One-third seats have been reserved for women in the Panchayati Raj Institutions.
Reason R : Political reservation of women was made possible through 23rd and 24th amendments in the Indian Constitution.

In the light of the above statements. choose the most appropriate answer from the options given below
(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is not the correct explanation of A

(3) Ais correct but R is not correct
(4) A isnot correct but R is correct




2 21 U U T € : U UPHUT A (Assertion A) & =9 T [REd 8 1 gHRI 3US PRUIR (Reason R) P =Y H,
SfUHYT A - I I GR13fi ¥ nigarsii & fou ue-faes 9id aREd s 15 8 |

PR R : U Sfaer H 239 31% 24d 9y & 7109 I Afgarsif & fow aomifae meam g §=mm 74T |
SWRIG DY D 3Haid, B = f[GU 7Y [ddedl # 9 9ugdd Itk &1 99 B |

(1) ASRRIH I E AR R, A DI T TRAT §

(2) A3IRRGH IA G, Wl R, A DI Ug! oI -Tol o

(3) ATT S, AfPTR 3T S
(4) AFIE. APTRITS

1[Option ID=47829]
2[Option ID=47830]
3[Option ID=47831]
4[Option ID=47832]

Sl. No.42
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Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A : Use of Audio-Visual Aids makes learning experiences complete.
Reason R : Audio visual aids diminish opportunities to experience seeing. hearing, and doing.

In the light of the above statements. choose the most appropriate answer from the options given below
(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is not the correct explanation of A

(3) Ais correct but R is not correct
(4) A isnot correct but R is correct

:ﬂaﬁmmwg:@\Hﬁ-ﬁﬂﬁ(AsseﬂionA}Aa?_Fqﬁ%i@H%?ﬁWWW(ReasonR) R U,
ATUSYT A : TU-YoT GEUSP e AT & Udl & Ui §91d 5 |
HRUI R : TX-900 ToUD W $G-. T 3R B & SIHA1 & AR T P 6l

SURIEK Y1 & el H, - fAU 7Y fdspeul & 4 ¥ Iugad 9Tk P 98- BHifoly
(1) ASIRREH T8 E SRR AT TR AR B

(2) ARRIATEE IFTR AT TS TR T ®

3) ATS T AFTR TSR

4) A TRITAPIR T ©

1[Option ID=47833]
2[Option ID=47834]
3[Option ID=47835]
4[Option ID=47836]

Sl. No.43
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Given below are two statements :
Statement I : Non-literates aged 15 years and up will be covered by the New India Literacy Programme Scheme.

Statement IT : The National Institute of Open Schooling (NIOS) will conduct Basic Literacy Assessments for adult learners four times a
year.

In the light of the above statements. choose the most appropriate answer from the options given below

(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement IT is correct




FHYA-I: 15 T SR ST 3@ 35 & FReRT &1 719 YRd W& Srded dior & Sfaferd fawa s
PY-II : P G faemerd] e SeH Ue o § IR aR a0 il & g Qardr o gedid Aifed o

SR SUH & AP 5, 1 3T faPpedl § ¥ 6! SR &1 999 DI :
(1) HYTI R EH TI 8

2 PYTIIRIEH A

(3) HYT1IH . A BYUT I FTT §

(4) TYI A . WP I TT S

1[Option ID=47837]
2[Option ID=47838]
3[Option ID=47839]
4[Option ID=47840]

Sl. No.44
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Given below are two statements :

Statement I : Mass communication refers to the process by which complex organizations produce and transmit public messages that are
directed to audiences.

Statement IT : Mass audiences are homogeneous in their characteristics.

In the light of the above statements. choose the most appropriate answer from the options given below

(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement IT are incorrect
(3) Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement IT is correct

HE APy R

FYA-1 : TH-HAR (1 HHYFHTH) T6 Wiepd 8. o gRT Sfce 6, S-Hami o i ok 3ffd o3 8. 5 el ao
TEA O §

BUA-11 : AU SHTUTED a¥l (HTSUH) U1 faRivarai # geiirg g g1

SURI Y- & 3Hrciieh |, - fau U faseul ¥ 8 T Iuged 9k &1 99+ Sl -

(1) FYFI1 AR TT E

(2) HYTI IR I EM! ST T

(3) HYT1IH §. A BYT I T ©
(4) HYTI A E. Al FUT 1 T ©

1[Option ID=47841]
2[Option ID=47842]
3[Option ID=47843]
4[Option ID=47844]

Sl. No.45
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Given below are two statements :
Statement I : Participatory training approach is learner centric and 1s facilitated by the trainer.
Statement II : Participatory training is controlled by the trainer.

In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement IT is correct




e At e e

FYA 1 : FTTERI-3ud SunTH Re2il- = gia1 3 ofR ukie® Su&! g e |
DY I : UIRIED UFTGRI-STYTRT WiRIEl o1 HUEd S |

SWRIG DY D e H, = oy fddedi & I 9a9 Iugad &1 999 DIt :

(1) BUTT AR I G FA &

(2) HUT1 AR 11 ST AT

(3) HYT 1A 8, Alb 8. At PYT 11 3T &
(4) HYT1 I ¢, Afpd YT 11 T &

1[Option ID=47849]
2[Option ID=47850]
3[Option ID=47851]
4[Option ID=47852]

Sl. No.46
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Match List T with List IT

List-I List-II
(Communication Concept) (Characterstic)
A Mass Communication I |Instruction
B Downward Communication  |II [Encoder
C Source I1I [Delayed feedback
D [nformal Communication IV |Grapevine
WV |[Immediate feedback

Choose the correct answer from the options given below :
(1) A-L B-IL. C-V, D-III

(2) A-IL B-III. C-I. D-IV

(3) A-IIL B-I. C-IL. D-IV

(4) A-IV, B-IIL. C-IL. D-V

el 13 91 Gt 11 BT e Hifor
HEIWT $T SGUION :
A [ TR (A1 SHHGIH) R
B |srieE ge 11 [Gdbdd
B

cC  [Ed [11
o Jage
D [eHITdiD THIg N EEFEIH
- [<PTal
RIS

i U U 9@ el 1 O T8l 3R &1 904 Sl
(1) A-L B-II. C-V. D-III

(2) A-IL B-III. C-1. D-IV

(3) A-IL B-L. C-II. D-IV

(4) A-IV. B-III. C-II. D-V

1[Option ID=47853]

2[Option ID=47854]

3[Option ID=47855]
4[Option ID=47856]

Sl. No.47
QBID:2515048322




Match List T with List IT

List-1 ;
(Cocnepts of C omlfnunication and (Pr]:;]s;_n]fa[n =
Extension)
A |Participatory Learning and Action I |[Edgar Dale
B |Cone of Experience II [Evret Rogers
C [Diffusion of Innovation 11T |Aristotle
D |The Art of Rhetoric IV [Robert Chambers
IV DMarshal McLuhan

Choose the correct answer from the options given below :
(1) A-L B-V, C-IL. D-III

(2) A-IL B-III. C-V, D-IV

(3) A B-V, C-I. D-IV

(4) A-IV. B-1. C-II. D-III

il 19 1Y Gl 11 1 T Bifor :

Ha11 JTII
AlriieRT-euRd HfH AR eY [ TSR S
Bl3Hd TP (@1 I TaAUgL) [II (TG Aoy
C [FaT=IR @7 g8 11 |3RE],
D{arFgal ® dell VRIS Jrad

vV [T AdhaeH

= fSu U f[de el O ¥ 98l 3R &1 994 SIfol
(1) A-L B-V, C-II, D-III

(2) A-IL B-IIL, C-V, D-IV

(3) A-IL B-V, C-I. D-IV

(4) A-IV, B C-II, D-III

1[Option ID=47857]

2[Option ID=47858]

3[Option ID=47859]
4[Option ID=47860]

Sl. No.48
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Match List with List IT

List-I List-IT

S 5 : Holistic adult education courses in arts, sciences,
AICritical life skills I i 7
technologv, culture, sports and recreation.

Vocational skills Including preparatory, middle, and secondary stage
idevelopment equivalency

[]

Basic education  [[[I|With a view towards obtaining local employment

[Financial literacy, digital literacy, commercial skalls,
"Thealth care and awareness. child care and education.
and family welfare

Continuing i
education

-

Choose the correct answer from the options given below :
(1) A-L B-IV. C-III, D-II
(2) A-IL B-L. C-IV, D-III
(3) A-IIL B-II. C-I. D-IV
(4) A-IV. B-IIL C-II, D-I




eil-1 & |1y 11 1 e Bife -

a1 A1
|, [T St i ST, fagH, 95 Td, ©a AR T-ggaa o
IR Y G (2141 UIGhH
L [T BR[| (SR, AeEad R et o
[EEaES! GHETgSS
C | e M1 [ AR U BT PP
e TieRal, [Sore g Qiarar, aifticds
D [ e [V (DI, WA GEHIT Ud SRReddl, 9
[CREHTd U9 16T SR UNaR &edml

S G U geed § O U8 SR &1 904 S
(1) A-L B-IV. C-III, D-II

(2) A-IL B-L C-IV, D-III

(3) A-IIL B-IL C-L, D-IV

(4) A-IV, B-IIL C-II, D-I

1[Option ID=47861]

2[Option ID=47862]

3[Option ID=47863]
4[Option ID=47864]

Sl. No.49
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Given below are two statements : one 1is labelled as Assertion A and the other is labelled as Reason R
Assertion A : Community development programs could not promote better living due to poor participation and initiative of the community.

Reason R : Community development program is a method by which villagers are mvolved in helping to improve their own economie and
social conditions and thereby they become more effective groups in national development. It 1s a process of change by which people's
efforts are united with those of group authorities to improve economic, social and cultural conditions of communities.

In the light of the above statements. choose the most appropriate answer from the options given below :
(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is not the correct explanation of A

(3) Ais correct but R is not correct
(4) A isnot correct but R is correct

TR FARTTE : TP sifidud (4) F FU H fRad T O SR SUS SR (R) F U E;

HHYA A : GRS A0S STihH & B HH YFER] R Ugd & SR dga) oliad & Uidg 7ol & 91|
HRUIR : AL AR Srisd UH Y 8, e gr1 oo i 3791 [ o onfife ud anfve fRufaai § gur @ & fog
e fparonar g iR s3I 3 g § ifte yuTd! 998 99d ¢ | I8 URad- @1 Ue U1 ufshan 3 foraes gR1 @il & wmat
&1 T 31 31fe, I ok e iae fRufadl § guR & fiu 395 & ofieiial & ar fades Ueye oo o g

SWRIK HYU-1 & Hrclieh 1, - oy fasedl ¥ 3 9a8 Iugd STk &1 991 HIflU -
(1) A SRR EH TG 3R R. A DI ol URAT &

(2) AR REH TE & 3R A R, A T T e T ®

(3) ATE S AfesT R T TE &

4) AR e E AMPTRFLI §

1[Option ID=47865]
2[Option ID=47866]
3[Option ID=47867]
4[Option ID=47868]

Sl. No.50
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Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A : Maturation is the inner growth process unaffected by training.

Reason R : Maturation is the unfolding of traits potentially present in the individual, because of his hereditary. It is directly dependent on
the child's experience, that is stimulated and influenced by the different environmental factors with which he comes in contact.

In the light of the above statements. choose the most appropriate answer from the options given below :
(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is not the correct explanation of A

(3) Ais correct but R is not correct
(4) A isnot correct but R is correct

A9 S P [GU U § : U HWHYA (A) F U H [ § dl gIRI SR (R) d &Y 1
HfiHYE A - IRTSH AR gies Heha 5. S 9iR1emr § smafad et o

HRUI R : YRGS dfcd § 39 aXITd SR H JYTe =9 I IUFRUT 071 &1 Yahe 51 98 Ude 30 9 g & oy R Ak .
S 3% WO H S aTel Fid TiaRuig BRI GRI Igiad 3R WHIad Sl 6|

SURIE Y1 & 3Teile H, - faUy Y faseul § 3 ¥ Iuged 9k B 99+ Sl -

(1) A SRR TR € SRR AT eI AT B

(2) A3RREH T E AP R A T IS aRan S ®

(3) AHEI§ dfhT R el 761 ©

@) ATEITE EAPTR IV B

1[Option ID=47869]
2[Option ID=47870]
3[Option ID=47871]
4[Option ID=47872]

Sl. No.51
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Match List T with List IT

List I List IT

o Sigmificant changes in attitude, generally mvolving
A-fanxiety disorder [ cither mania, which is a period of elation, or sadness.
Fragmented thoughts, with difficulty in processing
information. Both negative and positive symptoms as
B.Mood disorder [T |delusions, thought disorders, and hallucinations,
withdrawal, lack of motivation, and inappropriate

mood
C Schizophrenic i Constant, stressful thoughts and a powerful urge to
“Hisorder perform repetitrve acts. such as hand washing.
Dbsessive- Severe fear, related to certain objects or situations.
D [Compulsive TVIMost people will try to avoid exposure to whatever
Kisorder triggers their fear

Choose the correct answer from the options given below :
(1) A-IV, B-I. C-II. D-III
(2) A-L B-IV. C-III, D-II
(3) A-IL B-III. C-I. D-IV
(4) A-II B-IV, C-II, D-I




el 1% 1Y Gl 11 DT T By

-1 He1-11

3fTHgTe H Hgaqul Uiad-, /e | 9 w0
A (i3 fdBR [ 9HS 3R Iorl & U 3dfe- IHIG
AR |
SRR

wd 380

B (I [9PR i H@Wﬁﬂﬁ?ﬂﬂﬂﬂﬁ@ﬁ%ﬂﬁ
HEHRIAD U1 BRI &0

i P Gad GIORI [daR 3R AR B, org-

=]

BT YT A1 B 31 g 35T |
- el aeg i a1 Fufaat 9 dafid dg 44|
D. ﬁwﬂim I PRI SR AT I 4T D S el il B
@ T a9

i fSu U f[de el O ¥ 98l 3R &1 904 SIfol
(1) A-IV, B-L C-II, D-III

(2) A-L B-IV. C-IIL, D-TI

(3) A-IL B-IIL. C-I, D-IV

(4) A-IL B-IV. C-II, D-I

1[Option ID=47873]

2[Option ID=47874]

3[Option ID=47875]
4[Option ID=47876]

Sl. No.52
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The parents that are emotionally unsupportive to their family. but provide basic needs. Such parents are

(1) Authoritative
(2) Democratic
(3) Permissive
(4) Neglectful

) fTfErd! (3iRefea)
(2) APl

(3) SHIATHD
(4) dERdle

1[Option ID=47877]
2[Option ID=47878]
3[Option ID=47879]
4[Option ID=47880]

Sl. No.53
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Educating exceptional and non-exceptional students together iz
(1) Transition

(2) Normalization

(3) Early intervention

(4) Integration

uaTETE® 3R TR-uargreTs fqafifal @1 ue gy R e g -
(1) T (TIHTRH)

) gRiHRu

(3) IRIEE ey
(4) UGG

1[Option ID=47881]
2[Option ID=47882]
3[Option ID=47883]
4[Option ID=47884]




Sl. No.54
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Fraternal twins are

(1) Identical twins

(2) Dizygotic twins
(3) Monozygotic twins

(4) Conjoined twins

mm%

(1) TDIS! gHd (3ge<ihd [¢a-4)

2) f3-3s9 g0 (SEagies fea)
(3) UDiSoll gue (HHNgMICS fda=m)

(4) TYF THGl (Bilgs ca-d)

1[Option ID=47885]
2[Option ID=47886]
3[Option ID=47887]
4[Option ID=47888]
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Emotions and feelings are considered as which aspect of the human resource ?
(1) Cognitive

(2) Affective

(3) Psychomotor

(4) Temporal

AT SR SRl &1 AFa Il & Y g & =9 5 g1 o1dl 82

(1) TFHETED

(2) HIATHG

(3) HAHIETER

(4) PITHMHE (CTHRT)

1[Option ID=47893]
2[Option ID=47894]
3[Option ID=47895]
4[Option ID=47896]

Sl. No.56
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Fringe benefits of working with organisations DO NOT include -
(1) Medicare Care Programmes

(2) Life Insurance Plans

(3) Monthly Salary

(4) Leave Travel Concessions

e 3 ATy BT e & Sl feaary  wfifea e § -
(1) ASHW GEUTE BRIHH

(2) Siia 911 g

3) Tfie gdq
(4) HIDIR YA FC

1[Option ID=47897]
2[Option ID=47898]
3[Option ID=47899]
4[Option ID=47900]

Sl. No.57
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Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A : Habit is both a deterrent and an aid in the development of human resources.
Reason R : Habits limit perception and prevent change and habits bring discipline and conserve time.

In the light of the above statements. choose the most appropriate answer from the options given below :
(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is not the correct explanation of A

(3) Ais correct but R is not correct
(4) Aisnot correct but R is correct

4 Sl YA U U § : U Sy (A) & =0 fAfed § O IR PRU (R) & =4

YT A : S1Ed HIa G P [T I U MaR® iR U HgRIe F1Y &Ml 6|
HRUT R : 35 TSR0 Hi AT S & T aRad= &1 Al & 3R 3HEd SHRA A1l 8 aUl §9 B SR&0 Sl |

SRIT Y- & 3relied o, i fay 7Y faeeul ©§ 9 Fad Iuged 9Tk &1 991 Sl :
(1) A SRR I TGl & SRR, ADI TG! ORAT ©
2 A3MRRIA T T AFTR, AT TE TR Tl ©

3) AGE e AR TETE ©
@ AT TR AT R WE R

1[Option ID=47901]
2[Option ID=47902]
3[Option ID=47903]
4[Option ID=47904]
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Given below are two statements: one 1s labelled as Assertion A and the other is labelled as Reason R
Assertion A : To add visual height to a room. colour the walls and ceilings in the same color.

Reason R : By painting walls, baseboards and ceilings in different colors, one can blur those lines where walls end and where ceilings
begin.

In the light of the above statements. choose the most appropriate answer from the options given below :

(1) Both A and R are correct and R is the correct explanation of A

(2) Both A and R are correct but R is not the correct explanation of A

(3) Ais correct but R is not correct
(4) A isnot correct but R is correct

4 Sl YA U U § : U Sifiey (A) & =0 fAfed § O IR PR (R) & =4

HUHYT A - P P THF Sl § gig & [0 SaRT R Bdl &1 TP &l ¥ I |

HROT R : i 71 9 SR, STaIST AR Bl ol Ue B W 37 @131 BT Ui H I 3. ST5T <IaR FATE Sial & 3R o8l ¥ Ja
RU BN T

SWRITI HY b i H, 1< U 8 [deed § 4 Tad IugR IR P 98- Il :

(1) A SRR EH T8l § 3R R A DI Je! e ©

(2 A3MRRIA T T AFTR, AT TE TR Tl ©

@) AT AfPTR TEITE

(4) AgsiTeigAfT R TE ®

1[Option ID=47905]
2[Option ID=47906]
3[Option ID=47907]
4[Option ID=47908]

Sl. No.59
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In the process chart the 'A’ symbol 1s used for




(1) Inspection

(2) Operation

(3) Delays

(4) Movement

THH A1e 1§ «A° $1 g faes fog wgaa fovan oman g2
() Ffemn

(2) T

(@) B

(4) =R

1[Option ID=47909]
2[Option ID=47910]
3[Option ID=47911]
4[Option ID=47912]

Sl. No.60
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While lifting objects. the effort can be reduced by -

(1) Keeping the weight away from top of the body

(2) Keeping the weight close to the top of the body

(3) Keeping the weight close to the middle of the body

(4) Keeping the weight away from lower part of the body
IS P 3BT YHY [ YR VO HH (601 S Gl § 2
(1) TRR P FIRT HA DI HR I g G g

(2) YRR & FURT YA BT YR & FHY 38 U

(3) YRR S 0 YIS YR & JHIY TEd gl

(4) IRR P D =0 4T T 4R A g2 3@ gl

1[Option ID=47913]
2[Option ID=47914]
3[Option ID=47915]
4[Option ID=47916]

Sl. No.61
QBID:2515048336

Ownership of real estate. property and income generating assets 1s called -

(1) Money income

(2) Real income

(3) Psychic income

(4) Wealth

0d Uwee, 9 SR 31 Yo aRgmivdl & Wifiia S 71 S8l adl 82
(1) Hel &ld

(2) drEdfa® 3

(3) FTKId Y (HIgfhbd g7hH)

(4) ¥4

1[Option ID=47917]
2[Option ID=47918]
3[Option ID=47919]
4[Option ID=47920]

Sl. No.62
QBID:2515048337

The four Cs of credit do NOT include -
(1) Collateral

(2) Character

(3) Competence

(4) Capital

Bse (@) P IR O O o gfifad 98 2 -




@) peieva @ufds)
(2) PHae (@A)
(3) P (JeEdD)
(4) HfUed (ol

1[Option ID=47921]
2[Option ID=47922]
3[Option ID=47923]
4[Option ID=47924]

Sl. No.63
QBID:2515048338

Given below are two statements :
Statement I : Satisfaction derived from Income is real income.
Statement II : Selection of goals is a policy decision.

In the light of the above statements. choose the most appropriate answer from the options given below

(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement IT is correct

e sy fRumuE !

HUF 1 : 3T Y YT fP Iafds gl

HU 11 ; T&d| BT 99 U H1favTd Foig gl

SR DY b i H, i< U Y [dbedl § 4 Tad Iugw SR P 99 Il :

(1) YT AR IS Te &
(2) PYAI IR IS A €
(3) HYF-1 eI 8. AT HUF 11 7Td &
(4) BUI T B, b HUT 1 LT E

1[Option ID=47925]
2[Option ID=47926]
3[Option ID=47927]
4[Option ID=47928]

Sl. No.64
QBID:2515048339

Given below are two statements :
Statement I : People usually save for future emergencies that cannot met with current income .
Statement II : People may save for meeting needs and wants that are too costly to be paid for. with regular income.

In the light of the above statements. choose the most appropriate answer from the options given below

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement IT are incorrect

(3) Statement I is correct but Statement II is incorrect

(4) Statement I is incorrect but Statement II is correct

HYA I : AT STH TR R HTG! STa-RUfa! & U 990 S o, o] gaa 31 3 gfd el &1 o 9|

HYA 11 : AT Sfa=aS a1l SR T 1 gl & o7 S99 R G d 6. [orad] A 314 ¥ g&H agd Jem Isal gl
SWRIF ®YF & 3Tcie H, = AU M0 fdeedl ¥ 9 9ad Iuga SR &1 99 Sl -

(1) Y1 3R FYAI S G &

(2) Y1 IR HYA-I ST SFA S

(3) HYF-1 T . Al FYA-11 3T ©
(4) B 3T B, A UL TA &

1[Option ID=47929]
2[Option ID=47930]




3[Option ID=47931]
4[Option ID=47932]

Sl. No.65
QBID:2515048340

Match List T with List IT

List-I List-IT

K Direct 1 The_ purchasing power in rupees during a given period
[ncome of timne

B Mone}' I Flow of sa_tisfacricn deri\'e_d by the family from the use
income of money income and real income

C Real III |[Receiving different facilities without paving for them
income

D Psychic v The_ flow of goods, _ser\'icefs and cpmmlmi‘rj.-‘ facilities
income available for a specific period of time

Choose the correct answer from the options given below :
(1) A-L B-IL C-IIL. D-IV
(2) A-IL B-III. C-I. D-IV
(3) A-IIL B-I, C-IV, D-II
(4) A-IV, B-IIL C-II, D-I

il 1 il 11 1 B B -
Ha1 LI

A e e I 8177 9HAEiY & R ©UU & 6y Wigd

I " ﬂ%ﬁw\mﬁw;mwm
C [aratam g |t ffafiE gfaund o O fSET YiTaH @ 9 a1 S
D

S [T 1Ay GHaElY & foiu agai, aref 3R
< B [ArEIie giauis &1 uds Ydig

41 14U T faoedi § 9§ el faPed &1 99 DI
(1) A-L B-II. C-IIL. D-IV
(2) A-IIL B-III. C-I. D-IV
(3) A-III B-I. C-IV. D-II
(4) A-IV, B-III. C-II. D-I

1[Option ID=47937]
2[Option ID=47938]
3[Option ID=47939]
4[Option ID=47940]

Sl. No.66
QBID:2515048341

Placement of pattern pieces on fabric to optimize the use of fabric per garment, is :
(1) Spreading

(2) Marking

(3) Marker Plan

(4) Templet

UeH & chol o WaH= fored $US $1 @Ud 3P ad P2 9PHd 6. a6 & -
) fGERY

2) fEgied

3) g gian

(4) Tmce

1[Option ID=47941]
2[Option ID=47942]
3[Option ID=47943]
4[Option ID=47944]

Sl. No.67
QBID:2515048342

Which of the following factors 1s NOT considered. while planning a monochromatic colour scheme ?

(1) Shades of the colour




(2) Tones of the colour
(3) Source of the colour
(4) Tint of the colour

Uil 37 i &1 e oxd 994 Fafatad 5 3 g ore R ffar ad o wmar e
) JDHIYS
) JrHITH
(3) JHIHIA
(4) T DI SATH

1[Option ID=47945]
2[Option ID=47946]
3[Option ID=47947]
4[Option ID=47948]

Sl. No.68
QBID:2515048343
i

At what stage of yarn production fiber straightening, parallelization and attenuation are done in a long-staple yarn’
(1) Scouring

(2) Blending

(3) Gilling

(4) Roving production

I & I & e =R01 T I DT YT H, TP HR @0l a1 Al 82
(1) HFHESH (@)

(2) mﬂm(Blending)

(3) AR (FIfE)

(4) T BT ITE (I UISaR)

1[Option ID=47949]
2[Option ID=47950]
3[Option ID=47951]
4[Option ID=47952]

Sl. No.69
QBID:2515048344

Girdle or a long belt worn by women in Mauryan and Shunga period was called ?
(1) Mekhala

(2) Kayabandh

(3) Antariya

(4) Ushnisa

A 3R Y1 e § Aigarsi §RTUg- o did $EReq g1 dal sec Ul -

(1) Fgel

) HHEY

@) T

) 3o

1[Option ID=47953]
2[Option ID=47954]
3[Option ID=47955]
4[Option ID=47956]

Sl. No.70
QBID:2515048345

Which of the following 1s not a marking tool?
(1) Hem gauge

(2) Tracing wheel

(3) Tailer's art curve

(4) Thimble

= faw 7 famedi § § HH-71 3ie o1 ieF T8l 82
(1) TH THY (BH Te)




(2) SR fean (T &t

(3) SN BT Hal ab (CTY HTE Ha)
(4) I (e

1[Option ID=47957]

2[Option ID=47958]

3[Option ID=47959]
4[Option ID=47960]

Sl. No.71
QBID:2515048346

Most suitable fiber for infant's clothing 1s :
(1) Polyester

(2) Cotton

(3) Nylon

(4) Acrylic

(1) TR SIS
) Il PYSI

(3) AEdME dUSI

() UhHIaS HUSI

1[Option ID=47961]
2[Option ID=47962]
3[Option ID=47963]
4[Option ID=47964]

Sl. No.72
QBID:2515048347

The primary property of a fiber is :
(1) Specific gravity

(2) Moisture absorption
(3) Resiliency

(4) Cohesiveness

BUS BT WIUHS U] § -
(1) Tafy Tea

(2) 3T ST

3) @4

(4) TSI

1[Option ID=47965]

2[Option ID=47966]

3[Option ID=47967]
4[Option ID=47968]

Sl. No.73
QBID:2515048348

Which of the following 1s a regenerated fiber?
(1) Sisal

(2) Abaca

(3) Rayon

(4) Ramie

fafRad & 9 SH-91 gAedied $usl 82
@ Higa

(2) ATdIPT

(3) WA

()

1[Option ID=47969]
2[Option ID=47970]




3[Option ID=47971]
4[Option ID=47972]

Sl. No.74
QBID:2515048349

Choose the warp knit fabric from the following :

(1) Milanese knit
(2) Double knit
(3) Jacquard knit

(4) Interlock knit

frafaad & & a1 g1 BUS (@rd e Bise) B g
@ faris e

2) Sqqfie

() SPTS e

(4) Scrdld He

1[Option ID=47973]
2[Option ID=47974]
3[Option ID=47975]
4[Option ID=47976]

Sl. No.75
QBID:2515048350

A class of dye suitable for application on polyester fiber.
(1) Direct dyes

(2) Natural dyes

(3) Azoic dyes

(4) Disperse dyes

UITTU%er Ss & ford) 3Ugad Yoid & H-41 52

(1) SERER Slg

(2) WIHidd I

(3) THHlE® S5

@ sy s

1[Option ID=47981]
2[Option ID=47982]
3[Option ID=47983]
4[Option ID=47984]

Sl. No.76
QBID:2515048351

The process which helps in release of flax fibers from the stem of the plant is known as
(1) Sanforising

(2) Scouring

(3) Retting

(4) Desizing

T S X0 D1 I H ST DR B Wlhdl DI RN PHed 6 2

(1) IABRIERR

(2) Wi

(3) e

(4) Slasion

1[Option ID=47985]
2[Option ID=47986]
3[Option ID=47987]
4[Option ID=47988]

Sl. No.77
QBID:2515048352

Which of the following is not a type of pocket?

(1) Welt pocket




(2) Inseam pocket

(3) Bishop pocket

(4) Patch pocket

775 & ¥ D91 O BT UPR T8l 62
(1) Gee ofg

2 AR & AR T o

@) feRmoE

(4) g 9g

1[Option ID=47989]
2[Option ID=47990]
3[Option ID=47991]
4[Option ID=47992]

Sl. No.78
QBID:2515048353

This is a man-made fiber but not a synthetic fiber-
(1) Polyester

(2) Acrylic

(3) Nylon

(4) Rayon

(1) TIfeuEeR

@) fshfcid

@) qEa

(@) WA

1[Option ID=47993]
2[Option ID=47994]
3[Option ID=47995]
4[Option ID=47996]

Sl. No.79
QBID:2515048354

Given below are two statements :

Statement I : Fiber length 1s greater than crimped length

Statement II : Crimped length is greater than fiber length

In the light of the above statements. choose the most appropriate answer from the options given below

(1) Both Statement I and Statement II are correct
(2) Both Statement I and Statement II are incorrect

(3) Statement I is correct but Statement II is incorrect

(4) Statement I is incorrect but Statement II is correct

FYA-1 - A BT S TaTS 30! s dars O ifid gt 21
DY 11 : (TS dals dd $i 39d daTs o i gidi o |

SWRIF Y & 3Tdid |, Fid 40 77U fased] § 4 ol Ik &1 999 Hifoil -

(1) HYF-1 IR FYF-ISH GI &

(2) BYA-1 3R HYA-11 A1 A B

(3) HY-1 §A ©. Al HYA-I A &
(4) HUYFI I 8, AP U1 I &

1[Option ID=47997]
2[Option ID=47998]
3[Option ID=47999]
4[Option ID=48000]




Sl. No.80
QBID:2515048355

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A : Durable press finishing baths include a wetting agent.
Reason R : It increases the speed of the penetration of the finish into the fabric.

In the light of the above statements. choose the most appropriate answer from the options given below :
(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is not the correct explanation of A

(3) Ais correct but R is not correct
(4) A isnot correct but R is correct

TR FFRTME : @ HfiFT AT T F AT T T R PRUR S FUH,

STHYT A : TS U (ST 701 9 TR a1y ¥ U@ sl (afeT Uoie) afdfea o
FRU R : 3T $IS T TRITT & 3o 51 7 & 9fE gt B

TWRIG DY D 3aid H, 1= Gy 7Y [ddedi § 4 9ad IugR IR D1 I8 DIl :
(1) ARRIATHE HRR AT TSl TrEm &

(2) ASRREH ITE. PR A Hel ARAT T8l &

(3) AT e, AP R 3T

(9) ATEC. AFTIRITS

1[Option ID=48001]
2[Option ID=48002]
3[Option ID=48003]
4[Option ID=48004]

Sl. No.81
QBID:2515048356

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A : Vinegar is added in the last rinse while washing silk.
Reason R : It prevents lose of colour.

In the light of the above statements. choose the most appropriate answer from the options given below :
(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is not the correct explanation of A

(3) Ais correct but R is not correct
(4) Aisnot correct but R is correct

TR YT RUTIE : 1P iy AT 9 F A 3 A I PRUR & EU T

HYDYT A - T HUST DI Hid 97 R fHyamar siar g1

PRU R : T8 T H FqU HI AP 8|

SR Y b i H, 1< U 7Y [deedl § 4 Tad Iugw IR P 99 BIolU -
(1) ANRRETIAS IRRADI T A &

2 ARRIFTAE AfFTR, AP TEI AT T ©

(3) AT T, AP R TET 3T S

(4) A3NIT. AFTRIAT

1[Option ID=48005]
2[Option ID=48006]
3[Option ID=48007]
4[Option ID=48008]

Sl. No.82
QBID:2515048357




Match List T with List IT

List I List IT
MMethod of interlacing three or more varns in such wav
A [Felting I fthat they cross one another and are laid together forming a

marrow strip of flat or tubular fabric

The process of fabric construction by matting fibers
together by the action of heat and pressure

Process of fabric construction involving interslooping of
single or single set of varns

1A method of textile production in which two distinct sets
D |K\1.itring IV lof varns are mterlaced at right angles to form a fabric or
cloth

B [Weaving | II

C [Braiding |III

Choose the correct answer from the options given below :
(1) A-L B-II C-IIL D-IV
(2) A-IL B-IV. C-I. D-III
(3) A-IL B-II. C-I. D-IV
(4) A-IV. B-IIL. C-II. D-1

il 1% 1Y Gl 11 DT T BT :
I = 1T

A 1= 1 3iféres oFT &1 39 g J Sfdufid s i 4
A [ [Uob-GER P UR STY 3R Uob Y ML S afifs
(R guTe 1 TRGIHR 38 &1 U6 Y10 02l o1 &U |

@US] S &1 Uil (oTgH dq3i @1 741 d aad &
B @IaT (FHT9)|I e @ S ST 2

L @S] S @1 9l Wishdl forgH T @ o199 3 ad
i ) ERUSISISIGI]

. [PTs & IdTG Bl U 191y, oI YR & &l [a12
D AT FTDV et 5t 00° 10T TR Tp R AT 21

fu T fadedi & 4 Ue1 [ddey &1 99 DIfg:
(1) A-L B-IIL. C-III. D-IV
(2) A-IL B-IV, C-I. D-III
(3) A-II B-II. C-1. D-IV
(4) A-IV, B-III. C-II. D-I

1[Option ID=48009]
2[Option ID=48010]
3[Option ID=48011]
4[Option ID=48012]

Sl. No.83
QBID:2515048358

Give below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A : Woolen textiles have poor dimensional stability and can undergo shrinkage under unsuitable laundry conditions.

Reason R : The primary reason for this 1s the smooth surface of wool fibers. Which allows for yarn slippage during laundering.

In the light of the above statements. choose the most appropriate answer from the options given below :
(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is not the correct explanation of A

(3) A 1is correct but R is not correct
(4) A isnot correct but R is correct

TR PR E : (@ HiPYTAS U T [Rad g T R SRUR & =0 §

SHDUT A : Tl % BT SR AT =51 Te1 Bl a1 T SR Yerrs ¥ s o €1
BRI R : Sl dd D Iqg dgd (91 gl § o8 BRI I8 §alg & IEREIGE]

SWRIF Y9 & 3Tcid H, 1= AU 70 faeedl § 9 9ad Suga SR &1 98 Sl -
(1) A SRR TE g IR R AT U8 ARG §




() A3MRR A TE S AFTR, A DI IE TRAT TS ©
3) AGE e AR TETE ©
4) AVSI TSI R AP R US ©

1[Option ID=48013]
2[Option ID=48014]
3[Option ID=48015]
4[Option ID=48016]

Sl. No.84
QBID:2515048359

Match List T with List IT

List-1 List-II
A [Mercerization I [Physical fimish
B |Tentering II [Increases strength
C |Napping IIT |Surface design
D [Flocking IV [Basic fimish

Choose the correct answer from the options given below :
(1) A-L B-IV, C-III, D-II
(2) A-IL B-IV. C-I. D-III
(3) A-IL B-III. C-I. D-IV
(4) A-III B-II. C-IV, D-I

it 13 91 G 11 1 e S -

AL A1
A [HERTZOEE 1 [ifde gissia
B [defi 1 [ | agiadl
c R M [g9a8 R fearsd
D [tiida IV e URepid
9 fowedi © 9 gl f[deedl &1 94 DI

(1) A-I. B-IV. C-ITI. D-IT
(2) A-IL B-IV. C-1. D-ITI
(3) A-IL B-III. C-1. D-IV
(4) A-IIL B-II. C-IV, D-I
1[Option ID=48017]
2[Option ID=48018]

3[Option ID=48019]
4[Option ID=48020]

Sl. No.85
QBID:2515048360

Match List I with List IT

List I List IT

The visually satisfying effect of combining similar or related

Balance |[I
elements

PProportion| IT [Equating the parts on both the sides of umaginary line

and feel of movement

A
B
ClRhythm IIIA regular repetition of elements of art to produce the lock
D

Harmony [[V|It's the size of elements in relation to one another

Choose the correct answer from the options given below :
(1) A-IL. B-IV. C-III, D-I
(2) A-IIL B-II. C-IV, D-I
(3) A-IV. B-III C-I. D-II
(4) A-IV. B-I. C-ITI. D-IT




el 1% 1Y Gl 11 DT T BT -

T 1 T 11
. T O Yeidd deal & GOiodig eXgHH TR GauaRl
S S e

R0 & =0 3R Y[ DI 3TF B P (0 Bl &

A
B [durd [ [@TcdF® a1 @ GHi R @ HET &l THidd S|
C @9 1 NN -

D [areE [V |68 U@ G & U8y H adl &l PR ¢l

feu U fds el o O Sugead fabed &1 99+ FIT:
(1) A-IL B-IV, C-IIT, D-I

(2) A-IIL B-IL, C-IV, D-I

(3) A-IV, B-IIL C-I, D-II

(4) A-IV, B-L C-III, D-II

1[Option ID=48025]

2[Option ID=48026]

3[Option ID=48027]
4[Option ID=48028]

Sl. No.86
QBID:2515048361

Match List T with List IT

ListI List IT
Food items Nutrients
A |Citrus fruits I [Energy
B [Rice II [Proteins
C |Green leafy vegetable II1 [Vitamin C
D [Pulses IV |Iron

Choose the correct answer from the options given below :
(1) A-II, B-L C-IV, D-II
(2) A-IL B-III. C-IV, D-I
(3) AL B-II. C-IV, D-I
(4) A-IL B-IV. C-I. D-III

Gail-1 & |1y Yl 11 BT e SIS |
[t 1 3T ety 4l 11 UT9s aed
A [Rfeg wa sl
B [d1ac 0[O
¢ [ <R Ofesrgl N CEIEEE]
D [crel v [dg
1 feu 7Y fasedl § 9 96l 3R &7 90 B -

(1) A-IIL B-1. C-IV. D-II
(2) A-II B-III. C-IV. D-I
(3) A-IIL B-II. C-IV. D-1
(4) A-IL B-IV, C-I. D-III
1[Option ID=48029]
2[Option ID=48030]

3[Option ID=48031]
4[Option ID=48032]

Sl. No.87
QBID:2515048362




Match List T with List IT

List I List IT
Nutrients Diseases
A |Thiamine I |Goitre
B |Vitamin D I |Anemia
C |lron III [Rickets
D |lodine IV |Ben Ben

Choose the correct answer from the options given below :
(1) A-I B-III, C-IV, D-IT
(2) A-IV. B-III C-II, D-I
(3) A-IV. B-IIL C-I. D-II
(4) A-IL B-III. C-I. D-IV

El-1 % Gy Ft 11 BT e Sifeiy -

11 TS 9 111 30T
A e L
B [[geriH-st 1 [eHEE
Cc [dig 1 [Vde
ISR v o [EE
=t fqu 7T fd@ el § 3 98 3R &1 9o SId -

(1) A-I B-III, C-IV, D-IT
(2) A-IV. B-III C-II, D-I
(3) A-IV. B-III C-I. D-II
(4) A-IL B-III. C-1. D-IV
1[Option ID=48033]
2[Option ID=48034]

3[Option ID=48035]
4[Option ID=48036]

Sl. No.88
QBID:2515048363

Given below are two statements: one 1s labelled as Assertion A and the other is labelled as Reason R
Assertion A : Fortification of food is done to combat micro nuirient deficiencies.
Reason R : Fortified foods are enriched with iodine. iron. Vitamin A and Vitamin D.

In the light of the above statements. choose the most appropriate answer from the options given below :
(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is not the correct explanation of A

(3) Ais correct but R is not correct
(4) Aisnot correct but R is correct

R YT RUTE : 1P iy A S 0 F AT e T I PRUR & &

e A : & Tive aw@l @1 Bt @ gfd & forg @ yeref o1 vadiie o S g |
PRU R : Heiipd @rd 9ard i, s, faefd:u ok faerffq-st 4§ w5s 8 |
SR Y b i H, 1< U 7Y [deedl § 4 Tad Iugw IR P 99 BIolU -

(1) A3RRIHA TAE IRR, AT T TR §

(2) A3MRREH TAE APTR AT TE AR TS B

(3) ATTE. AR AT

(9 A3TAGT. APTIRITS

1[Option ID=48037]
2[Option ID=48038]
3[Option ID=48039]
4[Option ID=48040]

Sl. No.89




QBID:2515048364
Given below are two statements :

Statement I : BMR measures energy expenditure at rest.
Statement IT : Multiple factors such as age. gender. activity, sleep, ete. influence BME.

In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement IT is correct

DY 1 S1L.UH. AR, [T & 999 R Sl g &1 019 Hdl 6
BYUA I : IH, T (SR, fopareran, ig oiife S SgPRS &1.UH.3R, BT HIfad P g |

SR Y b i H, 1< U 7Y [deedl § 4 Tad Iugw IR P 99 BIolU -
(1) BY-I IR FYAI A Te1 &

(2) HYF-I AR EH Tad &

(3) HYF-1 98! &, Al HYH-11 7Tad &

(4) FHYF17TAd §. Al FUF-I1 Te1 §

1[Option ID=48041]
2[Option ID=48042]
3[Option ID=48043]
4[Option ID=48044]

Sl. No.90
QBID:2515048365

Buffers are made up of :

(1) Weak acid and water
(2) Weak acid and its conjugate base

(3) Strong acid and its conjugate base

(4) Weak acid and strong base

THY fPad eI g g

(1) gad o R od

(2) a9 3G AR TP g% SMUR
(3) UEd 3 3R 39S 3gs YR
(4) gadl 3 SR Uaa YR

1[Option ID=48045]
2[Option ID=48046]
3[Option ID=48047]
4[Option ID=48048]
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How many calories does 1 gm of protein have?
(1) 1 Calorie

(2) 2 Calories

(3) 3 Calories

(4) 4 Calories

U JE Ui & fha-l paRi gl gl

(1) 1 HanT

(2) 2 %E‘] o

(3) 3 HaRl

4) 4 PRI




1[Option ID=48049]
2[Option ID=48050]
3[Option ID=48051]
4[Option ID=48052]
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Deficiency of fat may lead to :
(1) Obesity

(2) Phrynoderma

(3) Korsakoff Syndrome

(4) Anemia

a1 B HH! Y F 8 IhdI 6 -
(1) Herar

@) fipAreat

(3) HIHEH A&

(@) THIEET

1[Option ID=48053]
2[Option ID=48054]
3[Option ID=48055]
4[Option ID=48056]
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Given below are two statements: one 1s labelled as Assertion A and the other is labelled as Reason R

Assertion A : The mucosa of the small intestine is lined by a simple columnar epithelivm which consists primarily of absorptive cells
(enterocytes). with scattered goblet cells.

Reason R : Lining on the folds of small intestine are tiny finger-like projections called villi. Each villus (singular) is composed of
conmnective tissue, an artery, a vein, and a strand of muscle all linked to a network of capillaries and vessels that move nutrients from the
lumen of the intestine into the circulatory system.

In the light of the above statements. choose the most appropriate answer from the options given below :
(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is not the correct explanation of A

(3) Ais correct but R is not correct
(4) A isnot correct but R is correct

A9 S P GU U : U HWHYT A S Y I [ARd g dl g PRUIR & &Y 1

ARG A BIFT 47d P ST R U6 iR Tyl ufiefiferan &1 ova @l 2t &, o uiufis v 8 faad sag sifeei
& Y ATYNTB PIRABIY (TeRHZe) gl &

HRUN R : BIcl 3Md & T8 IR BT I o F&0i &1 IRd gidl ¢, ford [t &gl o1dl 8 | vd faeay (Uhad) Tod Sas.,

TS YT, U 19 SR U=y de 9 Wd eidr 81 3 9t SRETar iR aifgersii & 1w Jead 98 §d 8, O 3id B ol 3
gfedart wome F Saftd &d g

SWRITI HY b i H, 1< U 8 [deed § 4 Tad IugR IR P 98- Il :

(1) A SRR EH Tel g SRR A DI gl e §

() A3MRR A TE T AFTR, A B TG TRAT Tl ©

@) AT AfPTR TR TE

(4) AUSITel s dfIR TG &

1[Option ID=48057]
2[Option ID=48058]
3[Option ID=48059]
4[Option ID=48060]
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Given below are two statements :
Statement I : Lycopene is an antioxidant.
Statement II : The fat-soluble vitamin E is tocopherol.

In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement II is correct

BEEG R EICURIE-#

Y1 : ASHIU HaH TSRS 2

HYA 11 : a1 & go-=ia {921 § SipieRid gl

SRI Y- & 3Hrclieh o, i fau U faeedl § 9 T Iuged 9k &1 98- Sl -
(1) BYTI MR 1 T8 &

(2) HYF-1 3R FYH-11 SH1 Tad &

(3) FYF.1 Td ©. Al HYF-117Tad &

(4) HYF-17Tdd §. dfthd FYF-I Tel &

1[Option ID=48061]
2[Option ID=48062]
3[Option ID=48063]
4[Option ID=48064]
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Match List T with List IT

List I List IT
A Homogenisation I [Kanj
B [Extrusion II |Canned juice
C [Fermentation III |[Pasta
D |Sterlistation IV |lce cream

Choose the correct answer from the options given below :
(1) A-IL B-III, C-I. D-IV
(2) A-II B-II. C-IV, D-I
(3) A-L B-IV. C-II. D-III
(4) A-IV, B-IIL. C-I, D-II

it 13 |1 G 11 1 e S

A1 T
A [GHFR0 (EHEITHTS =) WEZE]
B [SfE™R0 (T2 E) 1 [0S 9"
C [fpra wi=zm) 111 [OTT
D [FeiiE (e NaE) IV [amgasH
= U U f[de el § O T8l 3R &1 904 SIful

(1) A-IL B-III. C-1. D-IV
(2) A-IIL B-II. C-IV, D-I
(3) A-I. B-IV. C-II. D-III
(4) A-IV. B-IIL C-I. D-II
1[Option ID=48069]
2[Option ID=48070]

3[Option ID=48071]
4[Option ID=48072]
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Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A : Nutritional assessment is important to understand vtilization of nutrients,
Reason R : Nutritional assessment methods such as anthropometry and blood tests correlate with utilization of nutrients.

In the light of the above statements. choose the most appropriate answer from the options given below :
(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is not the correct explanation of A

(3) Ais correct but R is not correct
(4) Aisnot correct but R is correct

T FARUME : 1P Py AS FUH [fed & T ST HRUR & =0 H

HUHYUF A - TN dedl bl WA o e1Y TIS0T Hedic= Hgeaqul ¢ |
HRU R : TG 3R T Tie01 okt give getie et e aw@i & SUaNT & 91y Je-3aey R1ftd Sl ¢

SRIT Y- & 3relied o, i fay 7Y faeeul ©§ 9 Fad Iuged 9Tk &1 991 Sl :
(1) A 3RRIH TGl & SRR, ADI UG! ORAT ©
2 A3MRRIA T T AFTR, AT TE TR Tl ©

@) AT AT R T TR
@ AT TR AT R WE R

1[Option ID=48073]
2[Option ID=48074]
3[Option ID=48075]
4[Option ID=48076]
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Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A : Nutritional status of a patient is influenced by underlying disease condition.
Reason R : Disease condition impairs digestion and absorption of nutrients.

In the light of the above statements. choose the most appropriate answer from the options given below :
(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is not the correct explanation of A

(3) Ais correct but R is not correct
(4) Aisnot correct but R is correct

FR S YT RUTIE : 1P iy A F w0 F i f @RI PRUR & &

fHYT A ; T I o1 dinor Teeht fRufe 1 3t siafifed gz & wwifdd gt 81
HRUT R : 7T BT &M U SR GI9 dedi &b Ao o1 &) Hect 3|

SR Y b i H, 1< U 7Y [deedl § 4 Tad Iugw IR P 99 BIolU -
(1) ASRREH ITE IRRADI TSI AR &

(2) A3RREH TAE APTR AT TE AR TS B

(3) ATTE. AR AT

(4 A3NAGT. APTIRITS

1[Option ID=48077]
2[Option ID=48078]
3[Option ID=48079]
4[Option ID=48080]
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‘What losses are restored with ORS in a diarthoea patient?
(1) Protein and Energy

(2) Calcium and Vitamin D




(3) Vitamin B and Vitamin C
(4) Water and Electrolyte

HITER & AR F off 3R.ue ¥ 57 Sl 31 g-fd &1 ardt 22
(1) UidH 3R el

(2) ity R fGerfiE st

() Ferfim &t iR fGend=

(4) o IR faggd sigved (Zaacianse)

1[Option ID=48081]
2[Option ID=48082]
3[Option ID=48083]
4[Option ID=48084]
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Which essential amino acid can prevent as well as cure pellagra?

(1) Leucine
(2) Glutamine
(3) Tryptophan

(4) Methionine

D191 AT H UHHT 376 Uedi &1 AHUH & Adal STER H & Iadl 82

1) fe BESIER

1[Option ID=48085]
2[Option ID=48086]
3[Option ID=48087]
4[Option ID=48088]
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Intrinsic factor present in gastric juices helps in absorption of which nutrient?
(1) Iron
(2) Vitamin C
(3) Iodine
(4) Vitamin B12
SR I U FURRA SHaied PR 58 U o & IR0l H HgRidl Sl 82
(1) og
) fgeri=
@) s
4 fgerfaT
1[Option ID=48089]
2[Option ID=48090]

3[Option ID=48091]
4[Option ID=48092]




